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Question 1 Primary 6 Science » Primary 6 Science (Prelim) 2 pts

For each question, four options are given. One of them is the correct answer. (28 x 2 marks = 56
marks)

mmh&dmmmmﬂwmaﬂmmamudmlm,
Sha placed four Menfcal pots of plants,|n the garden undar bkl sundght as sheem in Ba

diagram beiow, P =TTl Uk L e
WA s
A B
subsstarscs st saalad plastc
| absceh carbon - bag
G O

Which sed-ups should June usa 19 conduel har sxperimace?

v"A. AandConly

B. AandD only
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D. BandD only
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Randomize Answers: No
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Question 2 Primary 6 Science » Primary 6 Science (Prelim) 2 pts

Jare camiad ouf an cxparimant uslng some Eshes and ydila pants. A stopper wos plecsd
gt the openiag of each et tubs

— bdacle b

Jome then placed & mil of solution X Inio each fesl bube. The colour of sakilon X changss in
1P Prassnds of differant amounts of carbon Jiondds a5 shown Delew.

Increasing smount of carbon divasde

1 I 1
[ | 1] L]
punpla ] yedlow

Al the sel-ups wora laft in tha sim for 3 hours while seb-ip D was ploced In a biadk boo for
the same diration. At e stard of e experimend, e colowr of solution X & asch feat ube
aaEs e,

‘Which of tha following showa the mast loehy results in each tube afier 3 houra?

A. Colour of solution X after 3 hours

A |B Cc D

red | yellow | purple | red

B. A B c D

purple | purple | yellow | red

v C |a [B c D

red | purple | yellow | yellow

D. (A B c D

purple | yellow | purple | yellow
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Primary 6 Science » Primary 6 Science (Prelim)

kandiz ] up an exporimant az shown it b diagram below,

Iahibcen
L
], deee

lamp

The graph bofow shows his nesulls.,
Humber of gas bubhlas

15

8 mE&@

4
14 = - - - i
12 e e 5 -
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I ' B m e o tamp fcmi)
5 14 15 el 3

m

Based on e above results, which one of the following Is the comect canclusion?

A. The higher the rate of photosynthesis, the lower the intensity of light.

The higher the rate of photosynthesis, the higher the intensity of light.

C. The higher the intensity of light, the lower the rate of photosynthesis.

The higher the intensity of light, the higher the rate

Question Type: Muiltiple Choice
Randomize Answers: No

Date Added: Tue 12th Oct 2021
Last Modified: N/A
QID#: 29,304,968
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Linda set up an eporkmed i o in the diigam balow.

Ebe coumied the number of ooygen Dubbles prodecad by The wetsr planl per mimbe with

warying levels of light intensBy and her esaclts and shown in bl 2

intenaity of lght Numiser of coygan
{uenits) Bsubsbilizs

Ak

The sbove setup withood the lamp wes Ben placed i an cpsen Bekl on 8 dear day.

Bamed on the abowe expaimenl, which ona of the

reprosant tha amaunt of e produced from 500 2m. o 530 0.m.?

Aot of oxyoon

greptes, A, B, Gor D, woud

o . B
e )
It i
¥ L]
Ham 12 man 8 .M.
v AL A
B. B
C. C
D. D
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Figures wzmmnmmmdam paant and & female human

A

Whikch wo raproducive parts have similar Rinclions?

Multiple Choice
No

Tue 12th Oct 2021
N/A

29,305,016
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‘The disgram below shows human Xand Y,
rapeocisciiveg cols, LngErgoing A procass during

Call X

Call ¥

Whish ore of the foflowing stetsmants is Incomect?

A. The above process takes place before the baby develops.
The human reproduction cells above are undergoing fertilisation.
C. Cell X'is produced in the testes while Cell Y is produced in the ovaries.

v D. Cell Xis afemale reproductive cell and Cell Y is a male reproductive cell.

Multiple Choice
No

Tue 12th Oct 2021
N/A

29,305,031
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Thea diagram befow shows Cells A, Band G.

Call A CellC

Which one aof the following siatements best describes Calis A, B and C7

A. All the cells above have a cell wall.
All the cells above can make their own food.
¥ C. Al the cells above are taken from at least two different organisms.

D. Allthe cells above are taken from different parts of the same organism.

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Tue 12th Oct 2021

Last Modified: N/A

QID#: 29,305,051

Question 8 Primary 6 Science » Primary 6 Science (Prelim) 2 pts
luhy tho fabhs Bedow,

A fiek () indicates the presence of cerlain parls in Cells P, O and R,

Parts Cell P cellQ T cellR |
cell wall ¥ W
chloropiast - |
nucleus * " -

Where are Colls P, O and R likely o bs foursd?

A. lcellP|cell@|cCellR

cheek | root leaf

v B. IcellP|cellQ|CellR

cheek | leaf root

C. |cellP|cell@|cellR

root |cheek |leaf

D. [cellP|CellQ|CellR

root leaf cheek
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Multiple Choice
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Observations | Andmal X | Anlwal ¥ | Animal £
Lays eggs ¥ ¥ v
Has ihres body parts 7 7

Young resembles adult 7

A- X Y

cockroach | butterfly | frog

B. X Y

z

mosquito | butterfly | chicken

C. X Y

z

butterfly | mosquito | chicken

v D. X Y

butterfly | cockroach | frog

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 10

Multiple Choice
No

Tue 12th Oct 2021
N/A

29,305,091

Which of tha following could be andmals X, Y and Z7
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Jalma shudiad thres snimals, X, ¥ and Z, and recorded her obsenaiions in the takds balow.
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The diagram balow shais the diffsrent reproducton procossss thal the sduit roes pand
goes teough,

§
s
L

r Raproduction procassas

v rsam s cas

I Young ross plant ]

Which of the following cormaclly state the reproduction processes lhat he adult ross
plant goas Shrowgh'?

A. fertilisation ---> pollination ---> seed dispersal ---> germination
v’ B. pollination ---> fertilisation ---> seed dispersal ---> germination
C. fertilisation ---> pollination ---> germination ---> seed dispersal

pollination ---> seed dispersal ---> germination ---> seed dispersal

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Tue 12th Oct 2021

Last Modified: N/A

QID#: 29,305,115
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Thes graph bedow shows the volums of biaod passing Brough the small intastine dusing
rest and during exercise over a perod of ime.

Wigluma of blood 3
passing through

small intesiine (units)
e e Ui FEEL

e, easesemnn, el QUG SNECES

* Time (min)

Based on the graph above, Row does axentising after a meal affect the shearption of
digested food in tha sma intesting?

v A. Less blood flows to the small intestine so there is less absorption.
B. More blood flows to the small intestine so there is less absorption.
C. Less blood flows to the small intestine so there is more absorption.

D. More blood flows to the small intestine so there is more absorption.

Question Type: Muiltiple Choice
Randomize Answers: No
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Question 12 Primary 6 Science » Primary 6 Science (Prelim) 2 pts

M Mohermmad romoved tha outer ring of the shem of a plant In o gerdon s shown in the
diagram balow. Ho condimred to waber the plant daiby.

Which of ha folloedng would be he mo=f esly obeeraBon(s) of tha plant afinr seeerml
venpka

Lesvas P diad,

A
B Fart 7 swsied,
c The whaobe pland disd,

A. Aonly
v B. Bonly

C. AandBonly

A,BandC
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 12th Oct 2021
Last Modified: N/A
QID#: 29,305,144
Question 13 Primary 6 Science » Primary 6 Science (Prelim) 2 pts

The cassfibion chart belcw shows how some plants are gouped,

Plants
I |
Flowaring Mon-fAowerdng
|
| |
X Y érel's resd Farn
moss
tanana freg angEana free
lomala pand shaonss

Which of the icilowing headings coreetly represents X and ¥7
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A. X Y

Bear fruits | Do not bear fruit

B. X Y

Dispersed by water | Dispersed by splitting

C. X Y

Reproduce by seeds | Reproduce by spores

v D. X Y

Dispersed by animals | Dispersed by wind

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 12th Oct 2021
Last Modified: N/A
QID#: 29,305,168
Question 14 Primary 6 Science » Primary 6 Science (Prelim) 2 pts

The disigrmen bl represents the himnan digeathe gysiem,

Baged on the disgmm abowe, which of the fokowing shalamants aboul parts W, X, Y and 2

ane corracl?
A Criperafion ke cormpheled of parl Y.
B Dégecation of bood atarts al part 2.
o Faod moves down parl W inba parl 30
o Wter i absorbed inio B body 1 part Y

A. AandBonly

v B. CandD only
C. B,CandDonly
D. A/B,CandD
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Question 15 Primary 6 Science » Primary 6 Science (Prelim)

Jdacob med diferan! cortainae and powred dffsrent wolomes of water &l 97 o0 ime hs
condsingrs as shown in Fe lebie below,. He then pleced s selkops, A, B, G and 0, 0 the

gardmn.
Volume of wainr: 140 mi Wislisrmme of wiasler: 4080 mal
e 1 _ them
Selup A Setap B =
Volumea of wator: 140 imf Volume of warter: 400 mi
s & om
| Seb-up © Setup D

Which e of the Tollowing slelsmend ks comadty

A. Water in set-up A has the same rate of evaporation as water in set-up C.
Water in set-up C has the same rate of evaporation as water in set-up D.

C. Water in set-up A has a greater rate of evaporation than water in set-up B.

D. Water in set-up D has a greater rate of evaporation than water in set-up B.

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 12th Oct 2021
Last Modified: N/A
QID#: 29,305,187
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A bowel of ice was placad In a room at 275C,

Mery observad the cup afler 5 hours, Which ane of the following s comact?

A. | Observation Explanation

The ice cubes melted. | The ice cube lose heat to the water.

B. |observation Explanation

The ice cubes did not melt. | The ice cube lose heat to the room.

v C. Observation Explanation

The ice cubes melted. | The ice cube gained heat from the room.

D. |oObservation Explanation

The ice cubes did not melt. | The ice cube gained heat from the water.

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Tue 12th Oct 2021

Last Modified: N/A

QID#: 29,305,213

Question 17 Primary 6 Science » Primary 6 Science (Prelim) 2 pts

Eally placed an infisted balioon with & ball in @ and a beg of iea oh & baem balanos under
e het sum. Tha sat up was balanced al lhe stad of the experimant

a hall Bag of iea

She rocorded her chsarvalicn after 3 hours.
VWeliich of the fellowing stalemant(s) lafare possités obsanafion]s) afler 3 hours?

The talboon expansad

The se-up remained balanoed,

Tha side of the beam balance with the balloon maved downwarnds,
Thea sida of the: baam badancs with the bag of ice moved downwards.

=R =
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A. Bonly

¥ B. AandBonly
C. CandDonly
D. A,CandD only

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 12th Oct 2021
Last Modified: N/A
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Question 18 Primary 6 Science » Primary 6 Science (Prelim) 2 pts
Study e cireul bedow,

|[||
@ B
Q&

Aftar ona of the bulbs had bown, ol the other bulbs dd not lght up. Which Bulb had Bown?

A A
v ' B. B
C. C
D. D
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 12th Oct 2021
Last Modified: N/A
QID#: 29,305,243
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Tam placed giarent matedals, P, (L R and 5, randamly i posiions X Y e Z ps shown

He then recorded ks obserations in The tabis balow,

[ Pesition X | Posilion ¥ | Position Z | Bulbs that it

P i R B2 and B4 only

[} FI:_L =3 B, B3 and Bd only

Wiich of The falivwing comectly mpresants P, Q. /R and 57

A lp la |[R |s

copper | plastic | iron | wood

B. |p Q [R |s

copper |iron | wood | plastic

Clp |a |R |s

wood | plastic | copper [iron

YD lp |la [R |s

wood |iron | plastic | copper

Question Type: Multiple Choice

Randomize Answers: No
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Four objects of differen] mass, P, O, H and %, am above the ground using siings af
differart fenglbs as shown in the diagmm below, -

1.5m "3“, 1.8 1.2m
W kg Akg
Q 5
Ak |
P 10kg
"
ey =

Wehich abjact s tha most potental energy?

A P
v B. Q

C. R
. S
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 12th Oct 2021
Last Modified: N/A
QID#: 29,305,265

Question 21 Primary 6 Science » Primary 6 Science (Prelim)

Ah:tliupmlxmmumdnﬂ it redled dowe This remp past point Y and came bo & siop at
4]

podnd X

bl H‘“‘H

P Y £
: 4l »

¥whicin of Lhe Tolowing stalamoents ore oomect Based on e abowve se-up?

The ball has the moasl Rsale eaergy ol ¥,

The kel Beas e potonitial eneegy at £ than at .

Thee beall hass Ehe most polential enengy 51 X before It was reloased,
Tree bl as |t ool aneagy at Z than at X balore It wees misasad,

=Rw e

A. Bonly
B and D only
¥ C. AandConly

D. A, CandD only
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Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 12th Oct 2021
Last Modified: N/A
QID#: 29,305,274
Question 22 Primary 6 Science » Primary 6 Science (Prelim) 2 pts

e pushed o oy, which was alisched Ip a sprng. as shown in figuee 1. When sha
reemecnd b part X aif the boy jurmpad up as shewn in tha figuem 2.

Figura 2
¥hich of the foliowing shows: tive cosmoct maln Energy covvrsiona 7

Joyce pushing hetoy ~ Comprossod spring  Part X jumpod up

A. Joyce pushing the toy Compressed spring Part X jumped up

heatenergy - > potential energy ----- > kinetic energy
B. heatenergy -------- > kinetic energy ------- > kinetic energy + heat energy
C. kinetic energy ------- > kinetic energy -------- > potential energy
¥ D. kinetic energy ------- > potential energy ------ > kinetic energy + potential energy
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 12th Oct 2021
Last Modified: N/A
QID#: 29,305,370
Question 23 Primary 6 Science » Primary 6 Science (Prelim) 2 pts

Emest placed two similar Ang magneds, P oand Q, il 4 woodan hoidar 88 shown below,
He obaarved a dislancs, o, bebwesn b teo mogrets. Then he sdded a malal fng, B, ka

e hokder abave magrsl 0.
-|
Q | R |
+ o
Fl

Withich of the following sxpleine coemactly the possible cbesnations ha could maks
About distenca, a7
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A. | Observation of d Explanation

increases Magnet Q repels ring R

Observation of d | Explanation

decreases Magnet P repels ring R

Observation of d | Explanation

decreases Ring R adds weight to Magnet Q

Observation of d | Explanation

remains the same | Magnet Q attracts ring R

Question Type: Muiltiple Choice
Randomize Answers: No

Date Added: Tue 12th Oct 2021
Last Modified: N/A

QID#: 29,305,444

Question 24 Primary 6 Science » Primary 6 Science (Prelim)

The: dizgram below shows Wayne and his sister playing table-teninis,

The ball bounced on the fable and wes moving owards Wayne. He Bl il with the bat
Bamed on tha diagram above, which of the following stetements e comecd?

When Wenyne hits the: ball, it will totalty stop moving,

Wayne has bo exert a push force on the ball o 1 it back (o his slstar.
Thar bl sxerbed a push forpe on tha table b0 bounce towards Wy,
The ball wil confinue b move at tha same speed when Wayne hiks |
tarder than his sister.

oom>

A. AandBonly
¥ B. BandConly
C. A, CandDonly

D. B, CandD only
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Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 12th Oct 2021
Last Modified: N/A
QID#: 29,305,491
Question 25 Primary 6 Science » Primary 6 Science (Prelim) 2 pts

Thia set-up below shecras ligh? ehining on thres sheets, P, O and R, made of differant materials,
im & clark rocm, Only one sheal allsved most ight o pass through, Each sheet has o hole of
thi 2ame haight sl ol n & dilierenl shope,

L[ R Lely=s]

| BCTEES

Ehasd P Shaat 3 Shast R
The diagram balcie shows the shadow seen on the ecreen,

L,

haighl od Mol

Wtich of the following armenpamants will anable |ha shadew above o be sean an fhe
SoTan T

{l does not allow light to

pass through
allows most light to
pass through
A.
Sheat P
v B
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e

C. P
b
I
D.
i
i
¥
|
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 12th Oct 2021
Last Modified: N/A
QID#: 29,305,525
Question 26 Primary 6 Science » Primary 6 Science (Prelim) 2 pts

Remash pletad 3 mimors In & eel of conhecled pipes. He lookad fhrough different pips
cgremiings bo find oul il he could sea the appla on e cpposhe side using e mirmors,

| rnFrmr—"'f
in which af [Fe follawing set-ups will he be able 1o soe The apple™ y

I
—~x—O
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oo N

C.
e i
v' D
L h}
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 12th Oct 2021
Last Modified: N/A
QID#: 29,305,540
Question 27 Primary 6 Science » Primary 6 Science (Prelim) 2 pts
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H‘lh’pﬂﬂﬂmmﬁ'mlm Il & basin of loa cubes as shown in the dhagram
bl The flagk was [ifed with a stoppsr whane 3 glass lube was Insenied, He added a drop
of ol il s glass fibe.

After 20 mintiles, b observed that the drog of ink had moved down iba glass bibe,

Question Type:

e i

Whikch o of the foliewing explaing his obsaralbion?

Air in the flask

Ice Cubes

gained heat and expanded

gained heat

Air in the flask

Ice Cubes

gained heat and expanded

lost heat

Air in the flask Ice Cubes

lost heat and contracted | gained heat

Air in the flask Ice Cubes

lost heat and contracted | lost heat

Randomize Answers: No

Multiple Choice

Date Added: Tue 12th Oct 2021
Last Modified: N/A
QID#: 29,305,561

Question 28

St

Primary 6 Science » Primary 6 Science (Prelim)

A block of ice wees placed in a wooden box as shown n the disgram below,

T

i

;

Which one of tha follveing statamends best explalne why the block of loe malted showiy?

A. The wooden box is a good conductor of heat.

https://www.classmarker.com/a//tests/test/?test_id=1832468

2 pts
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B. The air in the wooden box conducted heat away from the ice quickly.
C. The heat in the wooden box could not escape tot eh surrounding air outside the box.

v/ D. The wooden box slowed down heat gain by the ice from the surrounding air outside the

box.
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 12th Oct 2021
Last Modified: N/A
QID#: 29,305,578
Question 29 Primary 6 Science » Primary 6 Science (Prelim)

XKimyi s=lup her new aquariim nesd o e atndowiin her bodioom as ahawn in Figua 4
beafcrey,

¥

Figure 1 Flgure 3

Har mather absarvad thal e fish reenained 3 tha sufsos of the waba most of tha time and
suggesied that ¥imd pud some water plants, 2s shoan in Figurs 2, into the aquariem,

Describe the process of photosynthesis carried out in green plants. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,328,289

Correctly answered feedback

Chlorophyll in green plants trap light, together with carbon dioxide and water, make food and
produce oxygen.

Incorrectly answered feedback

Chlorophyll in green plants trap light, together with carbon dioxide and water, make food and
produce oxygen.

Question 30 Primary 6 Science » Primary 6 Science (Prelim)

https://www.classmarker.com/a//tests/test/?test_id=1832468
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Hiny¥ setup her new aguariim nesd $o the windoviin her badioom as shasin in Figuna 4
bty

L

Flgura 1 Flgnme 2

Har rather absarvad thal e ish renained 31 ha sirlaca of the walar most of tha ime and
suggested that Kimd pud some water plants, as shown in Figure 2, inbo e aquardom,

Other than being a source of food and shelter, explain how her mother's suggestion would help the fish
in the aquarium survive better. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,328,298

Correctly answered feedback

Water plants released oxygen which is taken in by the fish.

Incorrectly answered feedback

Water plants released oxygen which is taken in by the fish.

Question 31 Primary 6 Science » Primary 6 Science (Prelim) 0 pts
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Xyt selup her new aguarkim ned fo the wincowilin her badioom as ahawn in Figuma 1
beaiaw,

L 2

Figure 1 Flgure I

Har rather absarvad thal the TiEh s 3 [ha surlass of the wabkal mast of [Hha Hmd and
suggesied that ¥Xirmd pud some water plants, as shown in Figure 2, info the aquariom,

Figura 3 befow shows @ tord pitchad on a field, Afier & woeak, e lent was removed, 1| was
obsersgd thatha grass growing In e anen, whess thie sor hed Esen pitchsd, had furnad
brown and died 2= shown in Figun 4.

grrening
grasn grass
patch of
dead grass
Figuo 3 Flgura 4
Explain why tha gress undir-{ha-tant died. I#]

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,328,306

Correctly answered feedback

The tent blocked light from reaching the grass so the grass cannot photosynthesize / make food.

Incorrectly answered feedback

The tent blocked light from reaching the grass so the grass cannot photosynthesize / make food.

Question 32 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

https://www.classmarker.com/a//tests/test/?test_id=1832468 24/50


https://0cm.classmarker.com/10070943_SN5DBKUI.jpg
https://0cm.classmarker.com/10070943_H0U6VZT7.jpg
https://www.classmarker.com/a/tests/qb/manage/?test_id=1832468&question_id=29328306
https://www.classmarker.com/a/tests/qb/manage/?test_id=1832468&question_id=29328306&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1832468

11/1/21, 7:50 AM

ClassMarker - Manage Test

The lﬁ'?mtnl-:ﬂshum.ﬂm fite cycle of mesquilo X which spresds a vinns that calses
y £

TR
adult ?—um
e

Some scieniists keph these mosquiloss al different tamperalres and recosdsd the duration
of each stage of thalr e oyde, The resuts ane shive i e lable balow,

" Dhiration ﬂl-!lhgl It-liﬁwunltﬂmm 1#&]’-&]
28 20 i i L
Egg | 2 2 2
Larva B T & B
Fupa z FJ 2 1

State the effect of temperature on the length of the life cycle of mosquito X. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type:
Date Added:
Last Modified:
QID#:

Question 33

Essay

Thu 14th Oct 2021
N/A

29,328,315

Correctly answered feedback

As the temperature increases, the length of the life cycle of mosquito X decreases.

Incorrectly answered feedback

As the temperature increases, the length of the life cycle of mosquito X decreases.

Primary 6 Science » Primary 6 Science (Prelim)
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The u?m berbow showes tha e cydle of mesquils X which spresids a vinis that calses
) £y

TR
T
s

Some scieniisis tepl these mosquiloes at dfferent tamparahses and recosded the durafion
of each stage of thalr (e owde. The resuils are shovwn i@ e lable badow,

adeill

" Dhiration ﬂshgl at different temperabiras N-B]'-E.:l
28 20 i i L
Egg | 2 2 2
Larva B K ] & B
Pupa 2 528 T 1

The graph below shows the average mondhly tempearature in Singapore & 2019,

Temperature {1}

k3

mA  F MBY A My En ok Gy Sip D REE Bec

FPEER S T ) ¥ S TR PR ey S m

Based on the information above, would there be more cases of iliness P between January and June or
between July and December? Explain your answer. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A

QID#: 29,328,334

Question 34

Correctly answered feedback

Between January and June, the average monthly temperature is higher. Mosquito X's life cycle is
shorter hence there are more mosquitoes to spread iliness P.

Incorrectly answered feedback

Between January and June, the average monthly temperature is higher. Mosquito X's life cycle is
shorter hence there are more mosquitoes to spread iliness P.

Primary 6 Science » Primary 6 Science (Prelim)
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:: uh';g:m berlaw showe the e cycle of mesguile 30 which spreads a virus that causes
55 F,
cog

N
adeilt liarus
gz~
Pups

Speme scianiists kepl these mosquiloes al different tamperalures and recosded the durafion
of each stage of thelr [Fe oydo. The resuits ane shown i e lable below,

" Dairation of stage at different temperatiras ql:l.njla;
=™Cc | 2C 0°C e
Eqy 3 2 3 2
Larva B 7 & 5
Plpa 2 2 z 1

The graph below shows the average mondhly tempearature in Singapore & 2019,

Temperature {1}

k3

A My Em o W Sp e RBR O
et L

Thie diagrain bekow ahows parl of a pogstor displeyed ina neighbourhsed wilh & high numbsr
of sasag of finase F.

Common mosquito breading habitats
in and around homes Include domestic
and ornamental containars

Dirantad Bams and
Lt R

el ome way residends in e
& Drgcding of moaguiboas,

Baged arfy on the objects chown aboye:
neighbawhood can play a par In reduciig
{1

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was

designed in such a way that it requires manual assistance.

https://www.classmarker.com/a//tests/test/?test_id=1832468 27/50


https://0cm.classmarker.com/10070943_S4L53QHZ.jpg
https://0cm.classmarker.com/10070943_N0429VA6.jpg
https://0cm.classmarker.com/10070943_INXH3FF2.jpg

11/1/21, 7:50 AM ClassMarker - Manage Test

Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,328,346

Correctly answered feedback

Pour away water in the flowerpot plate. / Change the water in the flower vase regularly. / Check for
stagnant water in discarded items.

Incorrectly answered feedback

Pour away water in the flowerpot plate. / Change the water in the flower vase regularly. / Check for
stagnant water in discarded items.

Question 35 Primary 6 Science » Primary 6 Science (Prelim)

The diagrams below show flowers X and Y,

Flower X

Which flower, X or Y, is most likely pollinated by wind? Give a reason for your answer. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,328,359

Correctly answered feedback

Flower Y. The anther and stigma are sticking out of the flower.

Incorrectly answered feedback

Flower Y. The anther and stigma are sticking out of the flower.

Question 36 Primary 6 Science » Primary 6 Science (Prelim)

https://www.classmarker.com/a//tests/test/?test_id=1832468
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The diagram below shows fruit Z that Lucas found at the beach

waterproof outer fibrous husk

covering \\\“‘

FruitZ

Explain based on the characteristics of fruit Z how it can be dispersed by water. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,328,372

Correctly answered feedback

It has fibrous husk which traps air and allows it to float on water. / It has waterproof outer covering
which does not absorb water and allows it to float on water.

Incorrectly answered feedback

It has fibrous husk which traps air and allows it to float on water. / It has waterproof outer covering
which does not absorb water and allows it to float on water.

Question 37 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

Lucas remavad all the plamts in his garden. Hea then plantsd tso mas of sunflower plands only,
in iz garden, Alter Freo waake, he noticed Fal Hare wane ferns growing neer his sunfiowar

plants as shown in iha dingrmm below.

forn sunficwer

Explain how the ferns started growing in his garden. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.
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Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,328,378

Correctly answered feedback

The spores of the fern are dispersed by wind/animal.

Incorrectly answered feedback

The spores of the fern are dispersed by wind/animal.

Question 38 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

Lucas remavad all the plenis in his garden. He then plantsd tao rvs of sunflower plands anly,
in iz garden, Alter Freo waake, he noticed Fal Hare wane ferns growing neer his sunfiowar
plarts as shawn in tha disgram below.

forn sunficwer

Why is it important for Lucas to remove the ferns. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,328,390

Correctly answered feedback

To reduce overcrowding / competition for water, minerals, space and light.

Incorrectly answered feedback

To reduce overcrowding / competition for water, minerals, space and light.

Question 39 Primary 6 Science » Primary 6 Science (Prelim) 1 pt
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The greph below ehows the changes in Samuels heart rals before, during and after
exerciaing. He only exercisad for 20 minutes.

Heart rate {beats per minute)
13:} i Bssam pams
10| -—-
1m VS —— |——

m P

3z
=~

=Tima {minais)

T
10 20 3o 40 50
At which point, P, Q, R, S or T, did Samuel start exercising?

Point

Accepted answers:
vp

v Point P

Question Type: Free Text

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,328,398
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Question 40

Tha greph below shows the changes in Samuels heart rale before, during and afler
exerciaing. He only exercised for 20 minutes.

Heart rata (beats per minule)

y P || [T L R A
10
100
a0

&

+Time (minain)

T T
10 20 3o 40 50

State how his heart rate changed when he exercised. Explain why? (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child

to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.
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Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,328,410

Correctly answered feedback

His heart rate will increase. His heart will pump blood faster to provide more oxygen and more
digested food to all parts of his body.

Incorrectly answered feedback

His heart rate will increase. His heart will pump blood faster to provide more oxygen and more
digested food to all parts of his body.

Question 41 Primary 6 Science » Primary 6 Science (Prelim) 1 pt

Two while Bcwars-wers placed In bive-coioured-waber for Svee hours.
Altee thres hours, the white flowers fumed blise. Than Stem wee culsnd B was: naticsd Sal pan
F hened biue while part 0 did ned, 32 shown in tha diagram balow.

Identify part P.

Accepted answers:
¥’ water-carrying tubes

¥’ water - carrying tubes

Question Type: Free Text

Date Added: Thu 14th Oct 2021

Last Modified: N/A

QID#: 29,328,672
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Two while Bcwars-wers placed In bive-coioured-waber for Svee hours.
Altee thres hours, the white flowers fumed blise. Than Stem wee culsnd B was: naticsd Sal pan
P huned biue whilte part O did not, 52 ehown in e disgram below.

Explain how the white flowers turned blue. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,328,682

Correctly answered feedback

The water-carrying tubes transported the blue-coloured water to the flowers.

Incorrectly answered feedback

The water-carrying tubes transported the blue-coloured water to the flowers.

Question 43 Primary 6 Science » Primary 6 Science (Prelim) 1 pt

Two while Scwars-wers plaged in bipe-cooured water for Svee hours.
Altee iheag hours, the white flowers fumed blise. Tha St wee culsmd & wss: natiosd Sal pan
P hamed blue while part O 48 not, 82 shown in e diagram below.

What substance did part Q transport?

Accepted answers:
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v’ Food

Question Type:
Date Added:
Last Modified:
QID#:

Question 44

ClassMarker - Manage Test

Free Text

Thu 14th Oct 2021
N/A

29,328,687
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Jua Rl pourad an eqeal amount of digestive Uico Inbd 2 1es] lubes, A and B, She addad 2
of fiood b ssch fest fube. Tho food thal was added fo fest luba B wos out into@maller picces)
% shawn in [ha dagram balow,

digaative
[E="1
2g of fond
B

2g of food in
a smaller pitoas

Aler 2 hoven she reroeed the undigested faod piscas il died |bam and waighed them.
She recorced the resulls end repaaled the expariment for entther b fimeskas shown in

he table balow.
Mass of food left after 2 Mumsa] ol
Test tuba T iry 7 bry try
A 1.9 1.8 1.8
B 0.7 0.7 0.9

What was the aim of Jie Rui's experiment? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type:
Date Added:
Last Modified:
QID#:

of digestion.

of digestion.

Question 45

Essay

Thu 14th Oct 2021
N/A

29,328,701

Correctly answered feedback

To find out how the exposed surface area of food in contact with the digestive juice affects the rate

Incorrectly answered feedback

To find out how the exposed surface area of food in contact with the digestive juice affects the rate

Primary 6 Science » Primary 6 Science (Prelim)
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Jaa Rid poursd an equal armount of digesiive it Inkd 2 1es lighes, A and B, Sha addad 2g
aof food to asch test lube, The food thal was added o lest luba B vwas ou intofmaller picces)
&k shawn i the dagram balow,

digaative
L
2g of tond
I

Ater 2 hoven shi remosad the undigested faed piscas il died |bam and wsighed them.
She reconced e resulls end repaaled the expariment for enothar bn timesias shown IR

g offood in
a saller piecas

Iy Eable Litkow.
Hmﬂrndmmuznw

Test tubs T iry 2 try try

A 1.9 1.8 1.0

E 0.7 0.7 0.8

Give a reason why it was important for the food pieces to be dried before weighing them. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,328,710

Correctly answered feedback

To ensure that she is measuring only the mass of the food without the digestive juice.

Incorrectly answered feedback

To ensure that she is measuring only the mass of the food without the digestive juice.

Question 46 Primary 6 Science » Primary 6 Science (Prelim) 0 pts
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Joa Rl poursd an equal armount of digestive juico inds 2 teed ldbes, A and B, She added 39
af food bo sach fest fube, The food ihat was added fo fest tuba B was out into@meller pieces)
ak shdwi i the diagram balow,

Bumm
fLées
2g of food 34 of food in

smaller pitoaes

Ater 2 hoven shi remosad the undigested faed piscas il died |bam and wsighed them.
She reconced e resulls end repaaled the expariment for enothar bn timesias shown IR

Iy Eable Litkow.
Hmﬂrﬂ:mmrihirﬂ‘a]_m

Test tubs T iry 2 try try

A 1.9 1.8 1.0

E 0.7 0.7 0.8

Based on the result of her experiment, explain why chewing is an important process that helps
digestion. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,328,720

Correctly answered feedback

Chewing breaks up food into smaller pieces for faster digestion.

Incorrectly answered feedback

Chewing breaks up food into smaller pieces for faster digestion.

Question 47 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

Selina bought & ¢ of hot colfee Some mist was seen when she (ool the cup o ey seal ag
shown in the disgram below,

Explain how the mist was formed. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.
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Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,328,736

Correctly answered feedback

The water in the coffee gained heat and evaporated into water vapour. The warmer water vapour
touches the cooler surrounding air, lost heat and condensed into tiny water droplets.

Incorrectly answered feedback

The water in the coffee gained heat and evaporated into water vapour. The warmer water vapour
touches the cooler surrounding air, lost heat and condensed into tiny water droplets.

Question 48 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

Sielina baught & éip of hot coffee Some mist was seen when she ook the cup o her seal as
shown in the disgram hedow,

Explain why the mist disappeared after a short time. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,328,746

Correctly answered feedback

The mist gained heat and evaporated to form water vapour.

Incorrectly answered feedback

The mist gained heat and evaporated to form water vapour.

Question 49 Primary 6 Science » Primary 6 Science (Prelim) 0 pts
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Le ¥T 2 up a simpin fire alemm sysiem in her matsprant. Sha usod a metsl rod, alarm P end
£ wites ns shown befow. The medal rod espends sasily when heabed,

eled rod

She than leebad her alarm systern by haating the osated rod to dferert temperaturas, She
pecrclad had rasulls in lhe abla baloe,

Question Type:
Date Added:
Last Modified:
QID#:

Tempeératirn #hﬁﬁl‘m Alarm P F
L] T =
30 il 1
| [H [+]]

Question 50

Explain how the system works when the temperature is above 80 C. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Essay

Thu 14th Oct 2021
N/A

29,328,759

Correctly answered feedback

The metal rod will gain heat and expand to touch the electrical contacts, forming a closed circuit.

Incorrectly answered feedback

The metal rod will gain heat and expand to touch the electrical contacts, forming a closed circuit.

Primary 6 Science » Primary 6 Science (Prelim)
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Le ¥T 2 up a simpin fire alemm sysiem in her matsprant. Sha usod a metsl rod, alarm P end
O Wirts o5 shown befiow. Tha melsl rod sspands sasily when hkeabed,

wall

e

eled rod

She than leebad her alarm systern by haating the osated rod to dferert temperaturas, She
pecrclad had rasulls in lhe abla baloe,

Temperalern #hﬁﬁl‘m Alarm P =
10 CHf -
30 o o
| & [+T]

L ¥l thon wanted o croale a &t op sign beard for her estaurant &s shimen below,

NYPS

Sitwn used ome lighd ball to light up each leler, "W, ™, P ang "5,

Her clroeit must be abls to do the followings
= |lone bulb fused e others woulkl still Fgh up.
=  Theanlina sign is controlled by 8 ginga ewitch,

E

Diran ths cirewit disgrarn for her gign bamed. 2

!

CAFE

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,328,772
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Correctly answered feedback

® ® @0 &

IiF

Al

Incorrectly answered feedback

liiz

O © &

Al

Question 51 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

AR wound up o toy car. Upon releasing 11, G toy car moved forsand for 8 short dslence
before shpping & poiid X, He metsured e distercs, o, that e car had maved,

State the mEin enengy conversions siasting frorm AL winding up the Yoy car o the car
menfing acress ha Noor . [1]

P

[(Winding ug the toy car) [Spring in toy car) (Evineg B0 )

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,328,779
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Correctly answered feedback

Kinetic Energy ----> (Elastic) Potential Energy ----> Kinetic Energy

Incorrectly answered feedback

Kinetic Energy ----> (Elastic) Potential Energy ----> Kinetic Energy

Question 52 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

AR wound up o toy car. Upon releasing 1L, G toy car moved forsand for 8 short dslence
befire sldaping & poind K, He mansured the dislarcs, o, tat S car had moved,

[ WO B

Ali then applied a layer of oil on the surface of the table.

Explain, in terms of energy why the car moved a longer distance with the layer of oil on the surface of
the table. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,328,799

Correctly answered feedback

With the layer of oil on the table, less kinetic energy is converted to heat/sound energy. There is
more kinetic energy to move the car a longer distance.

Incorrectly answered feedback

With the layer of oil on the table, less kinetic energy is converted to heat/sound energy. There is
more kinetic energy to move the car a longer distance.

Question 53 Primary 6 Science » Primary 6 Science (Prelim) Opts
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Al wound up a foy car, Upon releasing Ii, o toy car moved forsard Tor 8 short dstence
before Seaping &l poind X, He measured e delarcs, o, that B car had maved,

wing-up foy car

Al than observed how the aumbar of times be umes the ey affected the dislance travelled
by the S0y cas, His resuits s shown m the tabin balow,

Number of turns | Distance ravellad by the toy car (cm)
1 4
2 ]
L 3R 1z 8
] | 18

What is the relationship between the number of turns of the key and the distance the toy car travelled?
(1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,328,825

Correctly answered feedback

As the number of turns of the key increases, the distance the toy car travelled increases.

Incorrectly answered feedback

As the number of turns of the key increases, the distance the toy car travelled increases.

Question 54 Primary 6 Science » Primary 6 Science (Prelim) 0 pts
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Al wound up a foy car, Upon releasing Ii, o toy car moved forsard Tor 8 short dstence
before Meaping i poind X, He measured e dstarcs, o, that B car had maved,

wing-up foy car

Al than oherved bow the Aumbar of times be umes the ey affected he dislance travelied
by the S0y cas, His resuits s shown m the tabin balow,

Number of turns | Distance ravellad by the toy car (cm)
1 4
2 ]
L 3R 1z 8
] | 18

Ali discovered that when he turned the key 5 times, the distance travelled by the toy car was 0 cm.
State a reason for his observation. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,328,838

Correctly answered feedback

The spring in the toy car is damaged so the toy car has no more potential energy.

Incorrectly answered feedback

The spring in the toy car is damaged so the toy car has no more potential energy.

Question 55 Primary 6 Science » Primary 6 Science (Prelim) 1 pt
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EE“MMHWN a jplasiic table jop using 1he aet-up shown in e diagram

LA AR
P,

LS

/L{ __f;'.{,wmm

" plastic tubile

Colin pulled a mubber hand back with & marble bafore refeasing it The marbie rofied
hﬂlﬂﬂﬂﬂlh&nﬁﬂlhﬂ.ﬂhm&ﬂbﬂﬂmni-ngnp.l-hrrmwwmmrﬂaﬂlu
swing and recarded his resulls, Than, he added substance X o the table ard repealed (ke
eaperinant, veing he seme malials.

Height of swing of metal ball (oo

| Table | T reading | ¥ reading 7 reading
Vithoul subsianes & E] t 3
Wit substanos X 5 ] [

State the force the stretched rubber band possessed just before it was released. (1 mark)

Accepted answers:

¥’ Elastic spring force

Question Type: Free Text

Date Added: Thu 14th Oct 2021

Last Modified: N/A

QID#: 29,328,944

Question 56 Primary 6 Science » Primary 6 Science (Prelim)

Eﬁmmw:nn a jplasfic table jop using the aet-up shown in Se diagram

_:  haight of swing
medsl bal

" plastic tubilo

Colin pulled a rubber Dardd back with & marble Before releasing it The marbie rofed
fonward and i the metal bel. The mebsi ball hen sedng up. Ho mesisused ha heighi of e
Faing and recorded héa reculls. Thin, he added substonce ¥ o the tablp and repealed (ke
wapeainant, weing he seme rmsluials.

Height of swing of metal ball (oo

| Table | "reading | ¥ reading | 3" reading
Without substanss & E B 3
Wil substanoo X, 5 B ]

Base on the results explain in terms of forces the effect of substance X on the height of swing of the
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metal ball. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,328,983

Correctly answered feedback

There is less friction between the marble and the table so the ball will roll faster and hit the metal
ball with more force. The metal ball will swing higher.

Incorrectly answered feedback

There is less friction between the marble and the table so the ball will roll faster and hit the metal
ball with more force. The metal ball will swing higher.

Question 57 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

Eﬁm & expaniment on & plastie table jap using ha sel-up shown in Se diagram

A
M
rubbar bard b
\ xﬁ
1 halghtof swing
medsl bak
" plastlc kg

Colin pulled a rubber band back with & marble befors releasing it The marbie rofied
hﬂmﬂrﬂlﬂlmmmﬂ.mwﬂhﬂmmm.mmmmmmﬁllh
swing and recarded his resulls, Than, he added substance X o the table ard repealed (ke
eaperinant, veing he seme malials.

Height of swing of metal ball {erj

| Table 1 ng | F¥reading 17 reading
Vithout substancs X 3 B 3
Y¥Vifh substanoo X 5 B i ]

Explain, in terms of forces, why Colin must stretch the rubber band to the same point in order to make it
a fair test. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,329,092
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Correctly answered feedback

To ensure that only the presence of substance X is changed and the marble is released with the
same amount of force.

Incorrectly answered feedback

To ensure that only the presence of substance X is changed and the marble is released with the
same amount of force.

Question 58 Primary 6 Science » Primary 6 Science (Prelim) 0 pts

A gtora cweer wanded o count 1ha nuember of pecple entering his sioee. He sal up a fight
source and = Gght sensor o (ba slore enlrance g5 shown below,

light scource
S
e
[~ light aanaor
1.56m connechad
toa
datalogger

The date recerded far 5 minubes i3 shown in tha graph bakmw,

Arnount of
light detecied
biy the sanaor
{urie]

o - i e Tima (mir)

Using the set-up, explain how the store owner could count the number of people entering the store. (1
mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,329,335

Correctly answered feedback

As the people entered the store, they would block the light source. Hence, the sensor would not
detect any light.

Incorrectly answered feedback

As the people entered the store, they would block the light source. Hence, the sensor would not
detect any light.
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A slode owner wanied o count 1ha numnber of pacple entering his sioee. He sel up a fight
graipc and & fght Sensor af (b slore entrance &8 shown beloy,

lightl scurce
.
e
[~ gkt sansor
1.5m conneched
toa
datalegger

This dats recerdiod far 5 minutes i3 shown in tha graph babkmw,

Arnount of
lighit detlecied
by thie snnor
{umiis)
o - o e Tima [min)

Based on the results above, how many people have entered his store in the 5 minutes?

people

Accepted answers:

v o4

v’ 4 people

Question Type: Free Text

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,329,345
Question 60 Primary 6 Science » Primary 6 Science (Prelim) O pts
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B stera cwner wanied o count Tha nuenber of pacpla entering his sioee. He seit up a fight
srairce amd 5 Gght sensor af (e sbore enirance gs ehown below,

light source
A—
‘H‘H‘H‘
light aansar
1.5m connechad
b a
datalogger

The dats recerdod far 5 minubes i3 shown in tha graph belkow,

Arnount of
light delecied
biy the senaor
{unie]

o - i e Tima (mir)

The store owner realised that his set-up could not count all the people entering the store.

Using the same materials suggest what he should do and explain how this method ensures that every
person entering the store can be counted. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,329,365

Correctly answered feedback

Lower the light source or sensor so the shorter people can still block the light.

Incorrectly answered feedback

Lower the light source or sensor so the shorter people can still block the light.

Qu estion 61 Primary 6 Science » Primary 6 Science (Prelim) 0 pts
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Sally poured an equal volume of wales 2l 30°C infle two ghasses, A and B, Glass A i single-
layered whils glass B s double-byered with an air-fided spacs in betwesn,

—ouler glass

Innergless

T alr-fifled space

Glnss A (Hass B

Aftar soma Bme, she messured the temperaties of the waler in bath glesses

Explain why the water in glass B was hotter than the water in glass A. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,329,379

Correctly answered feedback

Air is a poor conductor of heat so it slows down heat loss from the water to the surroundings.

Incorrectly answered feedback

Air is a poor conductor of heat so it slows down heat loss from the water to the surroundings.

Question 62 Primary 6 Science » Primary 6 Science (Prelim) Opts

Binds maintain a higher body temperatura than thef suroundings. In colder monihs, they
ars abserved 1o ruffle up their fnathars to keap thameelves wam.

TG up Teathess

Suggast how niifling up heir feathars help to koep beds warm, =2

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.
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Question Type: Essay

Date Added: Thu 14th Oct 2021
Last Modified: N/A
QID#: 29,329,389

Correctly answered feedback

Air is trapped between feathers. Air is a poor conductor of heat so it slows down heat loss from the
bird to the surroundings.

Incorrectly answered feedback

Air is trapped between feathers. Air is a poor conductor of heat so it slows down heat loss from the
bird to the surroundings.
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